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(UNITS 10 - 11 - 12)
[bookmark: bookmark45]I. Choose the word (A, B, C or D) whose stress idd different from the others
	1
	A. competitive
	B. immediate
	C. infinitive
	D. opportunity

	2
	A. ability
	B. multimedia
	C. curiosity
	D. possibility

	3
	A. unlucky
	B. technique
	C. leisure
	D. impure

	4
	A. unlimited
	B. impossible
	C. remarkably
	D. measurement

	5
	A. isolation
	B. forgetful
	C. inhabitant
	D. accommodate

	6
	A. waterless	
	B. Jupiter
	C. hopeful
	D. existence



II. Choose the word (A, BM C or D) whose underlined part is pronounced diferently.
	1
	A. infinite
	B. addition
	C. happiness
	D. Germany

	2
	A. bureau
	B. oversleep
	C. recover
	D. telephone

	3
	A. programme
	B. product
	C. brightness
	D. surprise

	4
	A. ordinary
	B. impossible
	C. accommodate
	D. cholera

	5
	A. imagine
	B. allergy
	C. passenger
	D. adventure

	6
	A. breathable
	B. vehicle
	C. existence
	D. meaningful



III. Choose the correct form of the words (A, B, C or D) to complete the sentences.
1. Technology that will let people play the lottery via the internet, mobile phones and_______television.
A. interact	
B.interaction	
C.interactive	
D.interactively
2. I think you should pay more _______to the real world rather than thecyberworld. It is your real life, isn't it?
A. attend	
B.attended	
C.attention	
D.attentive
3. Modern technology has made_______become easier than ever.
A. communicate	
B. communication
C. communicative	
D. communicating
4. There have been major new___in satellite technology.
A. develop	
B.developing	
C.development	
D.	developments
5. Not only does our	 of the universe change as the centuries go by butit also improves.
A. understand	
B. understanding
C. misunderstand	
D. misunderstanding
IV. Choose the best word or phrase (A, B, C or D) to complete each sentence.
1. Because of the development of technology, we____face to face in the year 2030.
A. will not working	
B. will not be working
C. will not work	
D. would not work
2. Tonight, at 8 o'clock I_____back to give you my answer.
A. am texting	
B. am going to text
C. will texting	
D. will be texting
3. anyone wish to access the information on the status of his or her order, the password should be entered.
A. If	
B.Should	
C.Whether	
D. As though
4. She installed security software on her new computer to_____it against virus.
A. prevent	
B.avoid	
C.protect	
D. secure
5. Many scientists_____all their lives working out answers to problems.
A. send	
B.promote	
C.spend	
D. devote
6. This website	an online course of astronomy.
A. offers	
B.guides	
C.educates	
D. teaches
7. Jupiter rotates very_______, once every 9.8 hours.
A. fast	
B.fasten	
C.fasted	
D. faster
8. Researchers are working______a new solar energy project.
A. at	
B.to	
C.on	
D. with
9. Some experts believe that the______of the print media will be replaced byaudio or visual media.
A. meanings	
B. jobs	
C.roles                 
D.consequences
10. Jupiter is the______planet in our solar system.
A. big	
B.bigger	
C.biggest	
D. bigly
11. The little girl asked what______to her friend.
A. has happened                                       
B. happened
C. had happened
D. would have been happened
12. He said he______return later
A. will	
B.would	
C.can	
D. would be
13. You will probably laugh when I tell you that I'm interested_______language.
A. in	
B. on	
C. at	
D. to
14. I earn my living_______training people in non-verbal communication.
A. in	
B. with	
C. by	
D. to
15. “This man spoke to me on the road”, said the woman.
A. The woman said that man had spoken to me on the road.
B. The woman said that man has spoken to her on the road.
C. The woman said that man spoke to her on the road.
D. The woman said that man had spoken to her on the road.
V. Choose the best response (A, B, C or D) to complete each conversation.
1.	- Why did you choose this brand of cell phone?
	_______________________________-
A. Is it affordable for you?
B. My mother advised me so.
C. I will buy it for you.
D. The cell phone is quite expensive.
2. - I promise not to talk with him anymore.
	_________________________________
A. He will come with me tonight.
B. You should use body language to communicate with him.
C. Is he your friend?
D. You've said that too many times.
3. - __________________________________
Change your password immediately.
A. Is the password easy for you to remember?
B. All of my colleagues know the password of my cell phone.
C. Can you enter your password for me?
D. Do you remember the password of this Pinterest account?
[bookmark: bookmark46]VI. Read the passage and choose the correct answers (A, B, C or D) to fill in the blanks.
Communicating 1._______ easier thanks to our advancing technology andinnovation. People can now talk to someone who is half across the globe. With asimple tap of your finger, connection with your family and friends can be madeinstantly. Technology also 2_______new ways to meet new people and makefriends. 3_______, these communications are often costless. All you need is asmartphone with internet connection. However, the lack of face to face contact can lead to many psychological problems especially among young people. They can endup 4_______with people in real life. If a person communicates solely via theirsmart phone, it can be damaging to their social skills. Face to face connection is also
important in learning empathy, learning how to understand people's feelings not just 5._______their words but also their facial expressions and body language...
	[bookmark: bookmark47]1
	A. is never
	B. has never been
	C. was never
	D. will never

	2
	A. increased
	B. combined
	C. allowed
	D. created

	3
	A. Furthermore
	B. Finally
	C. By the way
	D. However

	4
	A. disconnect
	B. to disconnect
	C. disconnecting
	D. disconnected

	5
	A. across
	B. about
	C. through
	D. behind


``VII. Read the passage and choose the correct answers.
NASA which stands for National Aeronautics and Space Administration is a
special organisation of the United States government. It focuses on science and
technology related to space. Established in 1958, NASA was a direct response fromAmerica after Russia successfully launched the first satellite into space. NASA’s goal at
the time was to stay ahead in the space race, a competition between the two nations in
space exploration. With the funding from the government and support of the public,
NASA carried out the Apollo 11 mission which marked the first time humans landed
on the moon. Since then, the USA and Russia has decided to focus their effort in other
areas. As a result, NASA no longer has the money they had before and their progress
is slowed down. However, scientists and astronauts still do researches on spaceflight,
solar system and other aspects of space. NASA’s current goal is to send humans to
Mars before the year 2030.
1. According to the writer, what is NASA?
A. It is the short name of National Aeronautics and Space Administration.
B. It is an organisation in the United States.
C. A and B are correct.
D. A and B are incorrect.
2. Why did the United States government establish NASA?
A. To cooperate with Russia in space exploration.
B. To open a space science center.
C. To launch the first satellite into space.
D. To compete with Russia for space research.
3. Which of the following is FALSE about Apollo 11 mission?
A. It was performed by NASA and a Russian organisation.
B. It was funded by the United States government.
C. Its main task was to bring human to the moon.
D. It was successful.
4. What does NASA do after losing money from the government?
A. Get rid of some programmes.
B. Keep on studying the space.
C. Continue working with Russia.
D. Do researches on Mars.
5. Which of the following is NOT discussed in the passage?
A. NASA started working in 1958.
B. NASA was the first agency to bring humans to the moon.
C. NASA wants to bring humans to Mars.
D. NASA has established lots of space programmes.
VIII. Choose the underlined word or phrase (marked A, B, C or D) in each sentence that needs correcting.
1. The most far reaching apply of fiber-optic technology are in communication
A                                                 B
because the optical fibers carry voice message for telephone service.
C                                         D
2. Laser discs provide images of better quality than that of either television signals
A	B                        CD
or video tapes.
3. The length of an X-ray wave is incredible smaller than one ten million of a
A	B	C                            D
millimetre.
4. The teacher told his pupils work with their concentration and manage time in the
A	B	C	D
examination.
5. My English teacher said we should write another composition for tomorrow
A			B
relating for our experience atlast week's workshop about the universe.
CD
6. Peter refused telling us the reason why he didn't come to the class meeting.
A                            BCD
7. Most of the jobs in the manufacturing factories will take over by robots.
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